
QUIZIZZ 
Combining Like Terms and Distributive 

20 Questions 

NAME: 

CLASS: 

DATE: 

----------
----------
----------

1. 

~ -
. . . re..m~'oer V\Ov.J we- pu...t 

Simplify by combining like terms~ -°3-J d.Wt~~t sha_pe.s o..rou....n J... cu~t -te,M5 . 
D a) Sa+ 2b + 4 5a-3o.. ~a. 

d.b 
~ b) 2a + 2b + 4 'Be_ Su.r-e.. to 1ndu..elL-

+h.t.. S1~t\~ · 
c) 8ab '-4 

2. Simplify by combining like terms:3x-5x 

D a) 2x 

0 C) -2X 

3. Simplify by combining like terms:3x + 2x 

D a) Sx 

0 C) 6x 

4. Simplify by combining like terms:-r -1 Or 

D a) 11 r 

0 C) 9r 

5. Simplify by combining like terms:-6k + 7k 

a) k 

0 c) 12k 

d) 4ab + 4 

b) 8x 

d) 1 Sx2 

0 b) X 

d) 5 

b)-11r 

d) -11 

b) -k 

d) -12k 

,,,---._ 

' ~ -----



6. Simplify by combining like terms:2x + 1 + 7x 

D a) 10x b) 10 

0 C) 9x + 1 d) 9+1x 

7. Simplify by combining like terms:n -10 + 9n -3 

D a) -3 

0 C) n 

8. Simplify by combining like terms:-4x -1 Ox 

D a) -14 

D c) -6x 

b) 9n-3 

d) 1 On -13 

b) 6x 

d) -14x 

9. Simplify by combining like terms:7v + 2 + 12 + 2v 

D a) 23 D 23v 

0 C) 9 + 14V d) 9v+14 

10. Simplify by combining like terms:3x + 2x + 3y -7y 

D a) Sx + 1 Oy 

D c) Sx -4y 

11. YOUMMl!ME 
FEB. TEN TIMES 

5Tll0NIII! 

D a) Sa+ 6 

D c) Sa+ 30 

('() <? WITHOUT YOU, 
V (? r, rM~ 

) 

f;)( 

S(a + 6) 

0 b) Sx +4y 

0 d) Sx -1 Oy 

5a.+'3o 

b) a+ 30 

0 d) Sa -30 

r.°"" 
! 



12. Why is tha IUllber six so se-d? 
8acouM -sight ninal /. 

- ..... _p 
:~~,D ,'· i 

'<'<c,-J'-. -

a) 2c -16 

D c) 2c -8 

13. 

NEVER DISCUSS 
INFINITY WITH A 
IMTHEMATiaAN. 

YOU'LL NEVER 
HEAR THE END 

OFIT 

a) -4k + 28 

0 c) 4k + 28 

the math geeks went t-,ck er treating 

14. 
:oh.youtwohav«tN:~c.om.,n,,] 

.-.•· ·-.. ' II' ,, . ·>.. ' -· ' ' .M\. . _,ilk._,~---. -·· ..!'rf~!,.v . " .. "''T. 4,' 
~, t ..,--___.ilu.....,_= -~ 

ftnallyl -•hounckrstond"1] 

a) -6c -15 

0 C) 6c + 15 

2(c -8) 

b) 2c+16 

0 d) c -16 

-4(k -7) 

(! 

b) -4k-28 

d) 4k-28 

-3(2c -5) 

b) -6c + 15 

d) 6c -15 



15. 
011,i'\O"'-, lll'Y CALLlD /ill I\VILR.\Gl

1
• 

!>01.> l'icl"• 
Tt1i 

[ 

--ca 
a) 4p-24 

0 C) -4p + 24 

16. Parallel lines 
have so much in 

common ... 
--

it's a shame that 
they'll never 

meet 

a) 18g + 27 

0 C) -18g -27 

17. 
,. · • ~•2,s1SA•• 
~s2u.-1,~•1••1•~111~2s••· 
1ein•"-~ G!T iN ~ERICH 

I 

IVE GOT TO GO. MY i".Qi", O"<l Y USES l"lY 
ruu t-;A..",[ :.11-:['I fM 1.'I BIG TOUBt..E. 

D a) -8 + m 

0 C) 8-m 

4(-p -6) 

b) 4p + 24 

d) -4p -24 

-9(2g -3) 

b) -18g + 27 

d) 18g-27 

-(8 -m) 

b) -8-m 

d) m + 8 



18. 
NEVER 

ARWi~H At 
90°ANGL~G~ IT'S ALWAYS R~ 

D a) -2x + 10 

0 C) -2X + 5 

19. -5(n+10)+5n 

D a) -5n-50+5n 

20. 
YOUR FUTURE 

@)~ ..,.,. After 
lanl19 ALCEBRA 

a) -36 + 38n 

0 C) 36n -38 

-2(x + 5) 

b) -2x -10 

d) -2x -5 

b) -50 

Simplify 
-6(7n -6) + 4n 

b) -38n + 36 

d) -36n + 38 


